

History

George Santaja (1864-1952)

Those who cannot remember the past are condemned to repeat it











Susa, Iran, ca 3300 BC

Cuneiform, Sumeria, ca 2600 BC



1





















Cryptocurrency with distributed generation and verification of money Open system where anyone can join



Paying	with Bitcoin		
Donald			Hillary
chitcoin #	Block chain	amount	and
	1BxgB4tjcoDnz1LC7bRqyybbE8YNigUQn5	70.00	
	19EULTY5DMyvDM6krKtcuvcUoHT4T3QmQL	80.02	A Long
Senon	1CMMwinpNduzooWeJ4sK9u7Lkp4YAyK2Lw	5.00	· · · ·
	16PVjaawyWqWnzyttJTAyv7hTcPNmRnVzY	3.50	
	16LNAxwBQupD7yDC8RUSRhyb62BFAZtgae	0.17	
	12tQUEb8zzdQSXkgt1553z7zS6Fm1cMQZB	9.00	
	16VTrwYYCLUNgzB8Xs8fYtWWxHR4wdyHm5	2.30	



























		arket c nmarketca					lue of stock e	exchange?
.tps://0	#	Name	Symbol	II/ dII/ VIE Market Cap	Price	Circulating Supply	Volume (24h)	
	1	O Bitcoin	BTC	\$185,389,062,639	\$10,335.19	17,937,650	\$12,359,022,668	
	2	+ Ethereum	ETH	\$20,476,086,237	\$190.02	107,755,452	\$6,333,532,514	
	3	\times XRP	XRP	\$11,218,174,855	\$0.260740	43,024,433,511 *	\$894,140,586	
	4	101 Bitcoin Cash	BCH	\$5,468,656,555	\$303.73	18,005,063	\$1,246,106,656	
	5	() Litecoin	LTC	\$4,445,202,010	\$70.27	63,262,367	\$2,357,926,009	
	6	👽 Tether	USDT	\$4,118,219,896	\$1.00	4,107,544,456 *	\$14,872,637,315	
	7		EOS	\$3,764,046,282	\$4.04	931,863,222 *	\$1,937,012,724	Facebook lib
	8	💠 Binance Coin	BNB	\$3,241,047,792	\$20.84	155,536,713 *	\$149,678,900	FACEDOOK IIL
	9	0 Bitcoin SV	BSV	\$2,134,614,875	\$119.55	17,854,986	\$275,300,683	
	10	😨 Monero	XMR	\$1,296,510,247	\$75.33	17,210,096	\$58,743,767	
	11	💩 Cardano	ADA	\$1,202,808,429	\$0.046392	25,927,070,538	\$41,733,140	

Business and governments	
tend to dislike	
 distributed control 	
• full transparency	
 unclear governance (or anarchy) 	
 uncontrolled money supply 	
restrict	
 write, verify or read 	
• to non-monetary applications	
	32













PKI: lessons learned

High stock market valuations: ".com" hype

Single global PKI proposed in the late 1980s

You cannot create trust out of cryptography (few exceptions)

Misaligned incentives invalidate business model: why should users pay for certificates?

Interoperability problems

High integration cost – resistance to change



EMV: 7.1 billion cards (55% of total) and 50 million terminals Highly centralized

Hierarchical trust model







PKI summary

EMV: transferring existing power structure online worked

TLS/SSL: after 25 years we are still trying to fix the trust issues • Example: eTLS (entreprise TLS), published by ETSI in Nov. 2018



Blockchain challenges: scalability

Throughput Latency

Storage per node



5 billion users	32 billion IoT devices
1000 transactions/year	31.5 million transactions/device per year (1/s)
transaction size: 1 Kbyte	transaction size: 1 Kbyte
storage: 5.10 ¹⁵ byte/year	storage: 10 ²¹ bytes = 1 Zettabyte/year
= 5 Petabyte/year	communications: 256 10 ¹² bit/s = 256 Terabit/s
Cisco (2022 forecast): 587 Exaby	te mobile traffic per year (82% is video!)

Blockchain challenges: scalability

solutions

separate applications

sharding – changes trust assumptions

trusted verification - e.g. Simplified Payment Verification

payment channels – e.g. Lightning network

Blockchain challenges: consensus mechanism

Proof of Work (PoW):

• high energy consumption

dilemma: concentration (ASICs) or malware (memory hard functions)

Proof of Stake (PoS): Algorand, Orobouros Praos, Ethereum Casper, Peercoin, Nxt, BlackCoin

Proof of Elapsed Time (PoET): Intel Sawtooth Lake

Consortium with simple voting or Byzantine Fault Tolerance

- central party to appoint members
- or prior agreement on members

Blockchain challenges: transparency versus privacy

Full transparency for verifiability

Privacy required for finance, e-health, strategic business processes

Fully encrypted processing too expensive: Hawk on Ethereum Partial privacy for cryptocurrencies is feasible Privacy for transaction logging: Opacity

Restricted access in permissioned ledgers



Blockchain challenges: governance of decentralized systems

IT systems tend to evolve toward monopolies or oligopolies $^\circ$ even open source projects have their "benevolent dictators"

Decentralization is response to mass surveillance and abuses

Decentralization at multiple levels

transaction approval

 $^\circ$ governance (meta-decisions) – today often centralized

Which decisions to (de-)centralize

Separation of powers

Accountability

Can we learn from centuries of political science?

Centralization: https://arewedecentralizedyet.com/

Name	Symbol	Consensus	Miners/voters Incentivized?	# of entities in control of >50% of voting/mining power	% of money supply held by accounts	ytop100 #ofo	lient codebases that account for > 9 nodes	0% of # of public nodes
Bitcoin	BTC	PoW	Y	4	19%		1	9624
Ethereum	ETH	PoW	Y	3	34%		2	17341
XRP	XRP	RPCA (voting system)	Ν	2			7	789
Bitcoin Cash	BCH	PoW	Y	3	24.12%		2	2124
Stellar	XLM	FBA	N	1	95%		1	m
Litecoin	LTC	PoW	Y	3	44%		3	261
Cardano	ADA	PoS	Ν	1	40%		1	1
Monero	XMR	PoW	Y	3	0		1	1691
Dash	DASH	PoW	Y	4	14.65%		1	4649
ΙΟΤΑ	MIOTA	Tangle (DAG)	Y	1	62%		1	484
Neo	NEO	DBFT	N	1	70%		2	46
Ethereum Classic	ETC	PoW	Y	2	Θ		2	Θ



Blockchain challenges: cryptography

Most blockchains have fixed crypto algorithms

Blockchain challenges: cryptography quantum threat

Yuri Manin 1980 Richard Feynman 1981 Exponential parallelism

First trials in the 1990s 7-bit quantum computer in 2001



If a large quantum computer can be built

Half of modern cryptography (public-key cryptography) has to be replaced [Shor 1994] RSA, Diffie-Hellman (including elliptic curves)



symmetric key sizes: x2 [Grover 1996]







Submissions to NIST non-competition

https://en.wikipedia.org/wiki/Post-Quantum_Cryptography_Standardization

-	Signatures	Encryption/KEM	TOTAL
Lattice	3/4	9/24	12/28
Code	<mark>0</mark> /5	7/19	7/24
Multivariate	4/7	<mark>0</mark> /6	4/13
Hash	1/4	0	1/4
Other	1/3	1/10	2/13
TOTAL	9/23	17/59	26/82

January 30, 2019: 26 remaining including LUOV and SABER from KU Leuven





Conclusion: blockchain

Exciting new technology for distributed consensus

• most (if not all) components are 25 years old

Many challenges including scalability, decentralization and governance

But still strong interest in re-engineering business models Novel ways to deploy cryptography to achieve resilience, security and privacy

